
Leaf Lamp Link Tree M
Leaf Lamp Series



Green Furniture Concept

Product description

Recycling

Leaf Lamp Metal Tree M   Parts

Leaf Lamp Metal Tree M   Assembly Instructions

p1

p2-3

p4-6

p7-14

Index



Green Furniture Concept1

Felt Leaf

Bulbs

Metal Trunk

Wood Branches

Base Plate

Product description



Green Furniture Concept2

Wood

Textile

Recycling



Green Furniture Concept3

Metal

Electronic Waste

Recycling



Green Furniture Concept4

Felt Leaf
x500

Dowel 25
x20

Lower Trunk 
x1

Top Branch
x1

Dowel 8
x500

Mid Trunk Tube
x1

Dowel 15
x100

Dowel 850+75
x1

Dowel 500+75
x3

Upper Trunk 4 Branch
x1

Base for Bolting
x1

Base Plate
x4

Parts
Leaf Lamp Link Tree M



Green Furniture Concept5

Grommet SP082
x4

Grommet SP095
x1

Hex Head M6x60
x6

Cord Relief
x2

Internal Hexagon M6x25
x3

Roundhead Wooden Screw 
Torx 5x20

x16

Roundhead Wooden Screw 
Torx 3x16

x5

Countersunk Taptite Bolt 
Torx M5x8

x1

Nut M6
x3

Cable Tie
x3

Countersunk Hexagon M8x50
x6

Countersunk Hexagon M6x12
x16

Washer
x9

Disk Spacer
x2

Parts
Leaf Lamp Link Tree M

Countersunk hexagon M8x12
x12



Green Furniture Concept6

Adaptor Block
x1

Y-Coupler 
x2

Female to Open End
x1

Metal Tree Tool
x1

Note: If the external flexible 
cable or cord of this luminaire 
is damaged, it shall be exclu-
sively replaced by the manu-
facturer or his service agent 
or a similar qualified person in 
order to avoid a hazard.

Note: When this products is 
fully assembled, no leaves 
must be closer then 30 mm of 
the light source. If so, please 
remove those dowels.

Parts
Leaf Lamp Link Tree M



Green Furniture Concept7

1

3

5

2

4

6

Alt. 1 Alt. 2

x3

Hex Head
Washer

Assembly Instructions
Leaf Lamp Link Tree  M



Green Furniture Concept8

7

9

8

10

1112

x3

Washer

Hex Head

Countersunk Hexagon 
M8x50

x6

Cord Relief

Countersunk Taptite 
Bolt Torx M5x8

Assembly Instructions
Leaf Lamp Link Tree  M



Green Furniture Concept9

13

15

17

14

16

18

Cable Tie

x2

Grommet SP095

Assembly Instructions
Leaf Lamp Link Tree  M



Green Furniture Concept10

2019

21 22

23 24

Nut M6

Internal Hexagon 
M6x25

x3

CLICK!

Assembly Instructions
Leaf Lamp Link Tree  M



Green Furniture Concept

28

11

25 26

27

29 30

1
2
3

4
5

1

2

3

4

5

CLICK!

1

2
3

4
5

!! 180180˚̊

5

!!

Assembly Instructions
Leaf Lamp Link Tree  M



Green Furniture Concept

31

33

12

32

34

1

2
3
4

5

Roundhead Wooden 
Screw Torx 5x20

35 36

x3
x3

Assembly Instructions
Leaf Lamp Link Tree  M



Green Furniture Concept13

37 38

39 40

x3

Roundhead Wooden 
Screw Torx 3x16

Roundhead Wooden 
Screw Torx 3x16

Cord Relief

41 42

Note: use certified 
electrician for open 
end cable instalation

Assembly Instructions
Leaf Lamp Link Tree  M



Green Furniture Concept14

43 44

45 46

Alt. 1

Countersunk 
Hexagon 

M6x12

47
Alt. 2

Assembly Instructions
Leaf Lamp Link Tree  M

x12

x12



Green Furniture Concept



Green Furniture Concept



Green Furniture Concept



Green Furniture Concept



Green Furniture Concept



Green Furniture Concept



Green Furniture Concept


